
1)

A = 54 B
Find the Angle at side B.

Answer: ____________

2)

A = 54 B
Find the Angle at side B.

Answer: ____________

3)

A B = 59
Find the Angle at side A.

Answer: ____________

4)
39 Find Volume of 
               36       Cylinder

Answer: ____________

5) Find the median of the following set of data:

7, 34, 35, 21, 13, 7, 38, 12, 4, 7, 32, 
19, 38, 13, 6, 34, 4, 14, 5, 38

Answer: ____________

6) Find the median of the following set of data:

7, 34, 35, 21, 13, 7, 38, 12, 4, 7, 32, 
19, 38, 13, 6, 34, 4, 14, 5, 38

Answer: ____________

7) What would you multiply by to 
increase an amount by 66%?

Answer: ____________

8)
36 Find Volume of 
               32       Cylinder

Answer: ____________

9) 5/67 of 268

Answer: ____________

10) A number is chosen at random from 
1 to 75. Find the probability of 
selecting factors of 20.

Answer: ____________

11) 5934 + (-4666)

Answer: ____________

12) Find area of 
rectangle having 
sides a = 9889 m 
and b = 3413 m

Answer: ____________

13) (17 + 17) ÷ (15 ÷ 15)

Answer: ____________

14) Round 8.4657083350276 to 6 
decimal places.

Answer: ____________

15) 21% of 439

Answer: ____________
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16) 80000 ÷ 1000

Answer: ____________

17) 3027 + 3566

Answer: ____________

18) 29% of 92

Answer: ____________

19) Find perimeter of 
square having each 
side (s) equals 5799 cm

Answer: ____________

20) Find perimeter of 
triangle
h = 8164 , a = 8491 
m,
b = 9814 m, c = 
9858m

Answer: ____________

21)
25

5 /10

Answer: ____________

22) Find the mode of the following set of data:

175, 175, 175, 178, 178, 116, 116, 
116, 116, 116, 116, 146, 146, 146, 
146, 146, 152, 152, 152, 152, 152, 
152

Answer: ____________

23) 88.5 x 71.5

Answer: ____________

24) Find the median of the following set of data:

17, 24, 38, 30, 34, 7, 17, 16, 28, 27, 
28, 12, 16, 15, 13, 21, 10, 10, 10, 15

Answer: ____________

25) 12/10 x 9/12

Answer: ____________

26) (9 ÷ 4 x 16) ÷ 12

Answer: ____________

27) Convert the following improper 
fraction 122/20 + 65/6 to a mixed 
number

Answer: ____________

28) Convert the following improper 
fraction 207/15 + 371/2 to a mixed 
number

Answer: ____________

29)
37 Find Volume of 
               31       Cylinder

Answer: ____________

30) $465.00 earning 10% compound 
interest for 5 years.

Answer: ____________
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31) (-48) ÷ 48

Answer: ____________

32) A number was shared in the ratio 
8:40. The smaller share was 14. 
What was the larger amount?

Answer: ____________

33) Convert the following fraction into a 
mixed number: 56/36

Answer: ____________

34) Find perimeter of 
square having each 
side (s) equals 4153 in

Answer: ____________

35)

A = 50 B
Find the Angle at side B.

Answer: ____________

36) What would you multiply by to 
increase an amount by 70%?

Answer: ____________

37) Convert the following fraction into a 
mixed number: 23/7

Answer: ____________

38) Round 4.337 to 2 significant figures.

Answer: ____________

39) An amount was increased by 3% to 
$119.14. Find the original amount.

Answer: ____________

40) Round 0.28929541671743 to 8 
significant figures.

Answer: ____________

41) 7552.5 - 4481.7

Answer: ____________

42) Find area of triangle
h = 7487 ft, a = 
8805 ft,
b = 8870 ft, c = 
9428 ft

Answer: ____________

43) 2202.2 - 6082.1

Answer: ____________

44) 92 x (-31)

Answer: ____________

45) A number is chosen at random from 
1 to 75. Find the probability of 
selecting number less than 19.

Answer: ____________

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

July 23, 2018

Sr: 23072018-506
 

http://www.geekschool.co.uk


46)
37 Find Volume of 
               36       Cylinder

Answer: ____________

47) 3/1 x 17/9

Answer: ____________

48) 3679 + 6249

Answer: ____________

49) Find the range of the following set of data:

9, 7, -11

Answer: ____________

50) Find the value of 'q' by completing 
the square of the following equation: 
2 + 6q + 9

Answer: ____________

51) 8178 ÷ 87

Answer: ____________

52) Find area of 
rectangle having 
sides a = 8760 ft 
and b = 8542 ft

Answer: ____________

53) Factorise 3s2 + 17s + 14

Answer: ____________

54) Find the median of the following set of data:

10, 32, 10, 14, 23, 35, 12, 19, 3, 31, 
25, 21, 40, 33, 3, 28, 4, 18, 29, 8

Answer: ____________

55) Find perimeter of 
triangle s = 3705 cm

Answer: ____________

56) 35/10 x 3712/14

Answer: ____________

57) Decrease 88 by 1/44

Answer: ____________

58) Decrease 88 by 1/44

Answer: ____________

59) 8751 + 8899

Answer: ____________

60) 8751 + 8899

Answer: ____________
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61) 12 x (-23)

Answer: ____________

62) $210.00 earning 5% compound 
interest for 2 years.

Answer: ____________

63)

'Name the type of angle.

Answer: ____________

64) Factorise 6q2 + 59q + 19

Answer: ____________

65) Decrease 16 by 3/8

Answer: ____________

66) Decrease 16 by 3/8

Answer: ____________

67) 15.3 x 55.5

Answer: ____________

68) 22/
15 ÷ 22

/14

Answer: ____________

69) (12 x 6) ÷ 14 ÷ 6

Answer: ____________

70) q-9 * q-15

q16

Answer: ____________

71) q-9 * q-15

q16

Answer: ____________

72) 2820 ÷ 47

Answer: ____________

73) Convert the following mixed number 
46/10 to an improper fraction.

Answer: ____________

74) 8 x 15 - 12 x 19

Answer: ____________

75) 02:40 am To 11:09 am

Answer: ____________
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76) Find perimeter of 
triangle s = 5697 cm

Answer: ____________

77) Convert the following mixed number 
1913/15 to an improper fraction.

Answer: ____________

78) Convert the following improper 
fraction 1217/18 + 1914/15 to a mixed 
number

Answer: ____________

79) $267.00 earning 4% compound 
interest for 4 years.

Answer: ____________

80) Find perimeter of 
square having each 
side (s) equals 6515 m

Answer: ____________

81) Round 14.7347416061680 to the 
nearest whole number.

Answer: ____________

82) 62% of 73

Answer: ____________

83)
37 Find Volume of 
               35       Cylinder

Answer: ____________

84) Find area of triangle
h = 6870 ft, a = 
8276 ft,
b = 9982 ft, c = 
9988 ft

Answer: ____________

85) 1269 + 5341

Answer: ____________

86) Convert the following improper 
fraction 374/7 + 72/3 to a mixed 
number

Answer: ____________

87) 63% of 226

Answer: ____________

88) Find the range of the following set of data:

12, 9, -13, 0.3

Answer: ____________

89) Find the range of the following set of data:

-18, 9, -13, -5, 13, -3, 1

Answer: ____________

90) (-58) x (-75)

Answer: ____________
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91) Find the mode of the following set of data:

191, 191, 191, 191, 191, 191, 191, 
131, 131, 131, 131, 131, 131, 86, 
86, 86, 86, 53, 53, 53

Answer: ____________

92) (9 x 49) - (8 x 48)

Answer: ____________

93) 9996 - 9978

Answer: ____________

94)

A = 41 B
Find the Angle at side B.

Answer: ____________

95) Convert the following mixed number 
3019/20 to an improper fraction.

Answer: ____________

96) Find area of triangle
a = 6602 ft, b = 
8900 ft

Answer: ____________

97) 3922 + 7732

Answer: ____________

98) Round 29.98 to 1 significant figures.

Answer: ____________

99) A number was shared in the ratio 
70:7. The smaller share was 48. 
What was the larger amount?

Answer: ____________

100) Find the value of 'd' by completing 
the square of the following 
equation: 2 + 6d + 8

Answer: ____________

Total: ___ / 100
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Answers:

1) 126 2) 126 3) 121 4) 158788.65908304 5) 19.5 6) 19.5 7) 1.66

8) 115811.67158193 9) 20 10) 0/1 11) 1268 12) 33751157m 13) 34 14) 8.465708

15) 92.19 16) 80 17) 6593 18) 26.68 19) 23196cm 20) 28163m 21) 5

22) 152 23) 6327.75 24) 27.5 25) 9/10 26) 27) 1814/15 28) 5729/30

29) 27926.402495923 30) $748.89 31) -1 32) 70 33) 15/9 34) 16612in 35) 130

36) 1.7 37) 32/7 38) 4.3 39) $115.67 40) 0.28929542 41) 3070.8 42) 33204845ft

43) -3879.9 44) 45) 6/25 46) 37661.412731234 47) 52/3 48) 9928 49) 20

50) (q + 3)2 51) 94 52) 74827920ft 53) (3s + 14)(s + 1) 54) 28 55) 11115cm 56) 1321/2

57) 86 58) 86 59) 17650 60) 17650 61) 62) $231.53 63) Obtuse

64) (2q + 19)(q + 1) 65) 10 66) 10 67) 849.15 68) 14/15 69) 70) q-40

71) q-40 72) 60 73) 23/5 74) 75) 08 Hours 29 Mins 76) 17091cm 77) 298/15

78) 3279/90 79) $312.35 80) 26060m 81) 15 82) 45.26 83) 142392.68702396 84) 34288170ft

85) 6610 86) 455/21 87) 142.38 88) 25 89) 31 90) 91) 191

92) 1835008 93) 18 94) 139 95) 619/20 96) 29378900ft 97) 11654 98) 30

99) 480 100) (d + 3)2 - 1

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

July 23, 2018

Sr: 23072018-506
 

http://www.geekschool.co.uk

